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No No K4 A& BB 4 BE BE B [ AA2 b
1 92 092374 FE Fi EAE RBRIREHE S 34E 5742 1:0245 1:59.87 0.00
2 93 092139 EE & R fAEL RFIREHE S 14 57.78 1:03.21  2:00.99 9.44
3 97 092384 KE FEIE R fAEL BRI E S 242 1:00.33 1:03.78  2:04.11 35.73
4 98 092140 HE &5 EAGE BRI E S 145 1:01.04 1:04.67 2:05.71 49.21
5 94 092373 HA FE [N TFR M E 346 1:01.15 1:05.80 2:06.95 59.65
6 95 092192 b &H— [N KH 1% 1:02.79 1:06.70 2:09.49 81.06
7 91 092193 FHEAKH R fAEL VERTEBE 14 1:03.81 1:08.97 2:12.78 108.78
8 96 092049  [[HER Fz R fAEL KA H = 1% 1:0594 1:11.74 2:17.68 150.06
DID NOT START [1st RUN] 3
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101 092391 #K% KE = AR HE 24F
DID NOT FINISH [1st RUN] 0
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DISQUALIFIED [1st RUN] 0
NOT PERMITTED TO START [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
NOT PERMITTED TO START [2nd RUN] 0
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